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a) parrot b) panda C) tiger d) deer

@) I can'tmove the bass. It's SO ... .

a) little b) small ) heavy d) new
9 She ... out the rubbish when the kangaroo hopped by.
a) will take b) takes c) take d) was taking
) | can see some musical instrumentsinthe ... room.
a) English b) art C) music d) Arabic

9 A: How did they play the match? B:Theyplayed ... .

a) well b) good ¢) bad d) quiet
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Choose the correct answer:

0 (=1)8 + (=1)% =

a)o b) -1 o1
9 | % | ................... Z.
a) e b) ¢ Q¢
g The image of the point (-3, 4) by translation (x + 2,y - 6) is e
a) (-5,-2) b) (-1,-2) q(5,-2)
Q The circumference of the circle = - X Tt
ar b) 2r Q) r?
9 The set of the counting numbers (C) - N.
a) € b) ¢ Q¢
G The value of 232"225 =
a) 32 b) 24 c 16
@ IfA(-3,4)andB (-3, 8), then AB = oo units.
a)12 b) 6 Q)4

d)(1,-2)

dr+2

Choose the correct answer:

o ~~~~~~~~~~~~~ is considered a first-class lever.

a) Wheelbarrow b) Pincer ¢) Manual broom
9 ------------- is a fixed point that a rigid bar rotates around it.

a) Force b) Fulcrum c) Resistance

9 Which of the following levers always saves effort?
a) Scissors. b) Nutcracker.
c) Sweet holder. d) Coal holder.
o The type of lever which always doesn’t save effortisthe ... .

a) first class lever b) third class lever ¢) second class lever

d) Bottle opener

d) Lever

d) fourth class lever
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a) badly b) well ¢) good d) sadly

9 Noha likes playing music. She playsthe ... every day.
a) bus b) bath C) pass d) bass
E)Shes on make-up.
a) putting b) drawing ¢) playing d) taking

O Yesterday, he playedthe ... .

a) homes b) shoes c) drums d) cars
9 ..................................... were you doing when the lion ran by?
a) Where b) What c) When d) Which
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Choose the correct answer:
0 ZtU {0} = o
a)Z b) N QZ d) @
9 The additive identity elementin Z is -
a)l b) -1 Qo d)2
9 5% 22 =
a)2’ b) 47 o1 d) 23
9 |=5[+5=
a)l b) 0 10 d) 25
9 |3-15]=
a)-12 b) 18 )12 d)-18
G The point (-3,4) is the image of the point (-5, 2) by translation -
2)(2,2) b) (2,-2) q(-2,2) d) (-2,-2)
0 In the following figure the distance between the points Aand B = . units.
a)l b) 2 B A
Q3 d)-2 ) 55 00 1 2 3

Choose the correct answer:
o Which of the following is from the second-class lever ... .
a) seesaw b) wheelbarrow c) sweet holder d) manual broom
9 The force arm is sometimes equal to the resistance arm in the ... class lever/s.
a) first b) second ) third d) (a) and (b)
9 When the arm of force is longer than the arm of resistance, the effort force is - the resistance
force.
a) larger than b) smaller than c) double d) equal to
o ............. is the lever that increases the speed of objects..
a) Hockey bat b) Nutcracker ¢) Manual broom d) Crowbar
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o The helps people who have emergencies.

a) officer b) baker c) farmer d) teacher
@ Im ready for the concert.

a) helping b) having C) seeing d) getting
9 Ali was washingthecar ... the eagle flew by.

a) why b) what ¢) when d) where
Q Howmany ... of water did you have at dinner?

a) cans b) bottles ¢) bowls d) cups
O The is very big.

a) eagle b) deer ¢) parrot d) bear
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a) € b) ) C d ¢
e The image of the point (- J— ) by translation (x -3,y +4)is(-5, - 3)

a)(-8,15) b)(-2,7) Q(-8,7) d)(-2,-7)
e The additive inverse of (=5)% = .

a) -25 b) 5 )25 d)-5
(4 J( po— N

a) € b) € ocC d¢
(5 R

a)-4 b) 2 c)-2 d 4
0 The image of the point (3, 2) by the translation (1, 2) is -

a)(-4,4) b) (4, 4) o) (4,-4) d)(5,3)
0 The multiplicative neutral elementin Z is -

a)0 b) 1

c) -1 d) none of the previous

Choose the correct answer:

o The effort force is between the resistance force and the fulcrumin ... ’

a) nutcracker b) scissors c) sweet holder d) crowbar
9 All the following are among functions of levers except ............. .

a) increasing speed  b) increasing size ¢) increasing force d) avoid dangers
9 When the lever is balanced, ............. .

a) effort force/arm of resistance = resistance force/arm of force

b) effort force/arm of force = resistance force x arm of resistance

c) effort force x arm of force = resistance force x arm of resistance

d) effort force x arm of resistance = resistance force x arm of force

9 If an effort force of value 10 Newton at 10 cm distance from a fulcrum of a lever inflicts an amount
of resistance at 5 cm from the fulcrum of the lever, then the resistance force willbe ... .

a) 10 newtons b) 20 newtons c) 5 newtons d) 100 newtons
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